R (LATE) HMRICE T HERBEGHREDAERE

BIESER BR(BATH) FiBE100mAvalcRYY, 88t m THRIELT .

BIEBR FR27F2A8108 () 12B(K). 16H(A)

# B 0. 237v4/90 —AR )L LD s E AT,

HMRER

B TE (B #a 0.05 ~ 0.12
FEHE (M Sv./h) 0.08
AIE(Y Sv./h) 0.12
&/IME (Y Sv./h) 0.05
roa A B (Jﬂ“s’rfﬁ) HE DT
1 FErk2742R128 0.07 TRAI7ILE
2 Tr27%2R128 0.07 FAI7ILE
3 FErk2742R128 0.09 TRAI7ILE
4 Tr27%2R128 0.08 FAI7ILE
5 FEr2742 8108 0.06 TRAI7ILE
6 FErk2742R108 0.06 FARAI7ILE
7 FEr27428128 0.08 FTRAI7ILE
8 Tr27%2R128 0.08 FAI7ILE
9 FEr27428128 0.07 FTRAI7ILE
10 | EHK27%2R12H 0.09 FARAI7ILE
11| EFK2742812H 0.07 FTRAI7ILE
12 | Em27%28128 0.06 FAI7ILE
13 | EFK2742812H 0.05 FTRAI7ILE
14 | Em27%28128 0.09 FAI7ILE
15 | EFK2742812H 0.07 FTRAI7ILE
16 | FERK27%28128 0.06 FAI7ILE
17 | EFK2742812H 0.08 FTRAI7ILE
18 | ER27%2812H 0.06 FAI7ILE
19 Tr27%2R128 0.07 FAI7ILE
20 i = = Gl *
21 | ER275F2A 128 0.08 FRAI7ILE




MR

Avea A B (JE"S’?E) T D 4K
22 | ER275F2A 128 0.07 FRAI7ILE
23 | ER27%F2812H 0.06 FAI7ILE
24 | FER275F2A128 0.07 FRAI7ILE
25 | ER27F2812H 0.08 FRAI7ILE
26 | FER275F2A128 0.06 t
27 Fr27%2R128 0.07 FRAI7ILE
28 | ER275F2A12R 0.07 FRAI7ILE
29 il £ * ] *

30 | ER27F2812H 0.09 FAI7ILE
31 | ER274E2A 128 0.07 TRAI7ILE
32 | E27%F2H10H 0.07 FAI7ILE
33 | E27E28128 0.09 TRAI7ILE
34 | ER27F2H10H 0.09 FAI7ILE
35 | E27E28108 0.09 TRAI7ILE
36 | FR27F2H12H 0.08 *

37 | ER2715E2812R 0.08 +

38 | 2728 12H 0.08 FAI7ILE
39 | Em27E28128 0.09 FTRAI7ILE
40 3 o = Cl *

41 i o = Gl *

42 | ER27%F2H10H 0.08 FAI7ILE
43 | ER274%28 128 0.07 FTRAI7ILE
44 | ERE275F2810H 0.09 FAI7ILE
45 | F275%E28108 0.09 FTRAI7ILE
46 | FrZ27FE28128 0.10 T CELHE)
47 | ER271%28 128 0.10 FTRAI7ILE
48 il % = Gl *

49 | ER27%2812R 0.08 FTRAI7ILE
50 | FR27F2812H 0.08 *

51 | FER275F2A 128 0.08 FRAI7ILE
52 | FER275F2H10H 0.07 FAI7ILE




MR

Avea A B (JE"S’?E) T D 4K
53 | ER275F2A12R 0.10 t
54 | ER275F2H10H 0.10 FAI7ILE
55 | FER27%2H10H 0.11 FRAI7ILE
56 | TR27F2H10H 0.10 FRAI7ILE
57 Tr2742R108 0.12 FRAI7ILE
58 | 2728 12H 0.10 FRAI7ILE
59 | ER275F2A12R 0.12 FRAI7ILE
60 | FrR27FE2R128 0.09 FRAI7ILE
61 Tr27%2R128 0.09 FAI7ILE
62 A o = Gl *
63 | FR27%E2810H 0.07 FAI7ILE
64 i = = Gl *
65 | FR27%E2810H 0.07 FAI7ILE
66 | EM27E2810H 0.08 TRAI7ILE
67 Tr2742R108 0.09 FAI7ILE
68 | EM27E2810H 0.12 FTRAI7ILE
69 | FER275E2810H 0.12 2
70 Frk2742R108 0.10 2
71| ER275F2A 108 0.10 Z
72 | ER275%28 108 0.09 FTRAI7ILE
73 | ER275F2A 108 0.10 FARAI7ILE
74 | ER27%28 108 0.09 FTRAI7ILE
75 il % = Gl *
76 il £ * Gl *
77 Tr2742R100 0.08 FAI7ILE
78 | ER274%28 108 0.09 FTRAI7ILE
79 | Fr27%2R108 0.09 FAI7ILE
80 | Em27428108 0.10 FTRAI7ILE
81 Fr2742R100 0.07 FTAI7ILE
82 | ER275F2A10R 0.08 FRAI7ILE
83 | FR275F2H10H 0.08 FAI7ILE




MR

gt AE A (JE“S'?E) SE DR
84 il i * Gl *
85 | FR275F2H16H 0.10 *
86 | FER275F2A10R 0.10 avy)—k
87 Fr2742R108 0.09 FRAI7ILE
88 | FER275F2A10R 0.10 FRAI7ILE
89 | FR275F2H10H 0.09 FRAI7ILE
90 | FR275F2A10R 0.09 FRAI7ILE
91 il £ * ] *
92 il i x Cl *
93 FrE27%2H10H 0.08 avo)—k
94 | ER27%E2H10H 0.08 avyl)—k
95 | ERL2742H10R 0.09 FARAI7ILE
96 | FR27%E2H10H 0.09 FAI7ILE
97 il £ * Gl *
98 3 7 = Gl *
99 FrE27%2H10H 0.09 avo)—k
100 | Fk27€2R108 0.09 ary)—k
101 | Fr27€E2H108 0.09 FRAI7ILE
102 il i = Gl *
103 | Ek27428108 0.09 FAI7ILE
104 3 o = Cl *
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